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1 O0o00n

00000000000 00ooo USBOO0O0OoOoOOo0oOoooooooooooo
00002600 Linux Kernel D OO DODOO0O0O0ODODODOODODODODODOODOOOOOO
0000000000000 O0O00000bDoOo000ooDooOo0ooooooog
0000000 uUTrTbSO00oooooooo

00O UuUTDSOO0OO0O0O0O0DOOO0O0000 version 1.170 000 0O O O O Linux kernel-
26.26.10000000000000000000000000000000000O00O00O00O
O0000000000000000000000000
00 ooooo
<KERNELVERSION> | 2.6.26.1
<KERNELRELEASE> | 2.6.26-1-686

2 O0Oooooo
e Debian GNU/Linux 5.0 (kernel 2.6.26-1-686) i386 J 00 00O 00! ?

e OO DDODOOOOUOULLOLOULOLOOLOOO0OOODLOLDDDODDOOOOOY
OOOo0bOO00ooOobooonD 128Mbps0 0o

3 J0O0OooOo/oooood

tar+gzip0 0000000000000 0O0OOOODOOOOO/000000O00O0OO0O
gbobobooooooboon

v1lbi-usb-linux/

|
+Makefile
+doc/

l lMakefile odddobond Makefile
lmanual.pdf Oo0oo0og (poFOO)
lmanual.ps 00000 (PostScriptd )
lmanual.tex O0OoO00 (LaTexOOO)

drTver/
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|

|
|
I
I
|
I
I
+
|
|
| +utds.c UTDSO O OOO0OODOOOO

! 0000000000000000000000 Debian GNU/ Linux 5.0 (kernel 2.6.26-1-686) 0 O O
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+examples/
I
+Makefile O OOOUODOOOOOOO Makefile
|
+x.c JO0OOO0O0OO0O (coOoOo)

I/o000000000D0D000OO

|

|

|

|

|
TinTlude/
| +tdsio.h UTDS
|

|

0
ggbbobuoooobbbuoooob
U

ooond
+tdssdh.h JQO QO QO0OO
oogd O

O
| OO00O0O0O0O000 O
|
+li?tds/
+Makefile DO OOOODOOO Makefile
I

+libtds.c U0 OOOO0O0OOOOU

4 OO0Oooooogooo

4.1 Linux0OUOO0OODOOOODOOOO

1. LinuxOOOO0O0OODODOOOOUTDSOODOODOODOOOOODODOODOOOn
gboobobobobbobobubt LinxdbobobobooooooooDo
gboobobob LinxdOooooooobooboobbooboobooboooonDon
gbbogobboobboobuooboobobuooboobbooboobobod
ggbooobuogooboobod

000000000000000: /lib/modules/<KERNELRELEASE> /build/

goooooobooboobotlD LinxO00000D0O0D0OO0O0O0O0O0DODOLinux
kernel-<KERNELVERSION>OOUOOOOOOOOOOOOOOOOOOOODOO

gbbgobuodgboboobuodobboobubbooboobbooboaboo
goboooogobon

# cd (some-work-directory)

# bzip2 -dc 1linux-<KERNELVERSION>.tar.bz2 | tar xvf -

2. lummix 00000000000 DO0O000DOO0D0O0O0O00ODOO0OD00O0O0D0 Linux



4.2

4.3

gboogobuodgbbogboobooboooboobuoboobbooboonoon
gbbboogobbbuoodobobbodo

# cd (some-work-directory)/linux-<KERNELVERSION>
# make oldconfig

# make all

Jogooboogogoon

. vlbi-usb-linux.tar.gz 0 0 0 0 O vlbi-usb-linux 0 0 0 00O O

# tar xvfz vlbi-usb-linux.tar.gz

# cd vlbi-usb-linux/

gogboboobobobbbbbbbbbbbbobbbbbbbdoododoooooobbb
gboogbbobbuogbboobobuobboobooobuooboobobuooboon
OO000D000000 KERNELDIROODOOOOODOOOOODOO

# export KERNELDIR=(some-work-directory)/linux-<KERNELVERSION>
# make

# make install

Joooobboggoooon

00000000000000000000000/dev/utds0O0 0000000 Linux
OO0 uwdevdOODODOOOOOOODOOODOODOODOODOODOODOODO

# cd /dev

# mknod -m 666 utdsO c 180 222



2. 000000000000

# insmod /lib/modules/<KERNELRELEASE>/kernel/drivers/usb/misc/utds.ko

5 Uooboboobobonbn
make install 00 000 000000000000000000000000000000

tds.ko /lib/modules/<KERNELRELEASE>/kernel/drivers/usb/misc/utds.ko
tdsio.h /usr/include/sys/tdsio.h

tdssdh.h /usr/include/sys/tdssdh.h
libtds.so /usr/local/lib/libtds.so

6 UUOO0oooooooon

6.1 JUUoopooooooobod

1. open()
2. close()
3. read()

4. ioctl()

6.2 0J0O0OOOOOOOO

Obhooobooboboboobobobuoooboobo0oboob0o0obOUl Linux
Kernel 2.6 00000000000 0ODO0OO0OOOOOO

6.2.1 open()

gbogdgbogbogbobobobobobooboooobooboobbobobob
OO000o0dogoooooooogoooboooboogooboooo0od O RDONLY
gbooogao



aoo)

int fd;

fd = open("/dev/utds0", O_RDONLY);

6.2.2 close()

00000000000000006.210o0pen()0000000O0OOODOOODODO
gooogg

ooo)

close(fd);

6.2.3 read()

0000000000 00000000000000006.210o0pen()00000OO0O
O000000000DOOoOooOoOOoO0O0O00000000ooooooOoOOooO (Doo
0)0000000000Doo0o0oo00ooooo(ooo)oooooo

oog)
int nread;
unsigned int buffer[1024];

int nbyte = sizoef (buffer);

nread = read(fd, buffer, nbyte);

6.2.4 ioctl()

O000000000000000 100006.210o0pen()0000000O0O0O0O0O
gboboooo20000b000b00boobboobo3goboobooooboon
ggboobobuoogoboobod

oo

int status, parameter;



status = ioctl(fd, TDSIO_XXX, &parameter);

6.3 i1octlOO

6.3.1 OO0 — TDSIO_INIT

OO0000o0boO0obobo0oooboooboooboo 20000 TDSIOAINITOOODOOO
obobboobooboobooboobo

e 1JJ0DDODDOODOODODODODDDODOD (6.3.800)
e IJUDDDODDOOODOOODO (6.3.900)
e 1JJUDODDODDOODODODODDDODODODO (6.3.1000)

e ]JJUDODDDOODODDODODODODDODODODO (6.3.1100)

1PPSOO0DODOOOODOOOO (6.3.300)

0000000000000D (6.3400)

00000000000O0O0O0 (6.3.2700)

@ooo)

ioctl(fd, TDSIO_INIT);

6.3.2 OODOOOFIFOOOO — TDSIO BUFFER_CLEAR

OO00oo0oboOrFiFrOOD00OD0O0OOO0 20000 TDSIO_ BUFFER CLEAROO
gooo

oog)

ioctl(fd, TDSIO_BUFFER_CLEAR);



6.3.3 1PPSO0O — TDSIO_SYNC_1PPS

OO0 1PPSO0O0O0OOOOOOOOOOO 20000 TDSIOSYNC_.1PPSOODOO
OOo0oO1pPSOOD0OOOOOODOODOODODOOOODOODOD

ooo)

ioctl(fd, TDSIO_SYNC_1PPS);

6.3.4 0000 — TDSIO_SET_TIME

OoOobooobobooobobo20000 TDSIOSSET TIMEODOO 300000
O0000000000000000O 32bit)D0000O0OD0ODOO0O0ODOOO0O0O0oOoon 17
000 (Obit-16bit) O 00:00:000 00 00O OO O18bit-27bit(9bit 0 )0 10 1000000
oooooooo®

00000000 00000o0oooon
]DDD \DD

TDS_MAKE_TIME(day, sec) | day(10 100000000)0 sec(00:00:00 0 00 O
00)0000000000000

ooo)

/* 2000/09/22 14:39:280 000000 =/
unsigned int time;

unsigned int day;

unsigned int sec;

day = 31 + 29 + 31 + 30 + 31 + 30 + 31 + 31 + 22;

sec = ((14 * 60) + 39) * 60 + 28;
time = TDS_MAKE_TIME(day, sec);

ioctl(fd, TDSIO_SET_TIME, &time);

s0000000000000000000000D00000



6.3.5 0O0OOO — TDSIO_GET_TIME

OOoboooboooboobooooooobD 20000 TDSIO.GET_TIMED OO 30
O0000000000000000000 (32bit)D00000000O0OO0OOOO0ODODOO
oboobobodbobe34b0bb0ObLO0ODbLO0ODOO
gobooogggooogggooood

000 ==

TDS_GET_SEC(arg) U0 argO 0 00:00:00000000000D00O00ODO

TDS_GET_SEC_CARRY (arg) U0 agtbDObOOo0bobobouobobugobog
goobbobol1oggn

TDS_GET_DAYS(arg) U0 argd0 10 1000000000O0O0O0O00OOOO

TDS_.GET_DAYS_.CARRY(arg) | 00 arg0 0 0000000000000 OOOOOO
goobboboloogn

(ooao)
unsigned int time;
unsigned int day;

unsigned int sec;

ioctl(fd, TDSIO_GET_TIME, &time);

TDS_GET_DAYS (time) ;

day

sec = TDS_GET_SEC(time);
6.3.6 00000 — TDSIO_.GET_YEAR

OOOo0bO0o0oo0obooobOoob 20000 TDSIOLGET . YEAROOO 30OO
O000000000000000O (32bit)00000O0DOCOOO

ooo)

unsigned int year;

ioctl(fd, TDSIO_SET_YEAR, &year);



6.3.7 OUOOODO — TDSIO_GET_YEAR

OOoboooboooooboobooobooobobo20000 TDSIO_GET_YEARO O
0300000000000000000000 (32bit)0000000O0OOOO

oo

unsigned int year;

ioctl(fd, TDSIO_GET_YEAR, &year);

6.3.8 0OUO00O0ODOOOO — TDSIO_SET_CHMODE

O00000O000O00boO0obboobooob 20000 TDSIO_SET_ CHMODE
0003000000000000000000000 (32bit)D0DO00O0O0OOOOOO

e 0000000
00000 |00000 |

1ch TDSIO_SAMPLING_1CH
4ch TDSIO_SAMPLING_4CH
aoo)

/x 4ch D OO0OO0OO =/

unsigned int chmode;

chmode = TDSIO_SAMPLING_4CH;

ioctl(fd, TDSIO_SET_CHMODE, &chmode);

6.39 0O0O0OOOO — TDSIO_SET RESOLUTIONBIT

OOoOooOoOoOOoOoOoOooobobobobobobobooo20000 TDSIO_SET RESOLUTIONBIT
00030000000000000000000 (320it)0000000OODOOO



e JUOOONO
gooo |0Doogd

1bit TDSIO _SAMPLING_1BIT

2bit TDSIO _SAMPLING_2BIT

4bit TDSIO_SAMPLING_4BIT

8bit TDSIO_SAMPLING_8BIT
ooo)

/x 1bit DOOOO0O0O %/

unsigned int resolutionbit;

resolutionbit = TDSIO_SAMPLING_1BIT;

ioctl(fd, TDSIO_SET_RESOLUTIONBIT, &resolutionbit);

6.3.10 0DO0OUODOODOD — TDSIO_SET _FILTER

OO00oobooooooobooooobboo0ogu 20000 TDSIO_SET_FILTER
00030000000000000000000000O (32bit)D00000O0000O0

e JO0O0OODODODODO
0000000 |0ooooo \

16M TDSIO_SAMPLING_16M

8M TDSIO_SAMPLING_8M

4M TDSIO_SAMPLING_4M

2M TDSIO_SAMPLING_2M

Thru TDSIO_SAMPLING_THRU
ooo)

/¥ Thru OOO0OO0O0O %/

unsigned int filter;

filter = TDSIO_SAMPLING_THRU;

ioctl(fd, TDSIO_SET_FILTER, &filter);

10



6.3.11 0OO00OUOOODOO — TDSIO_SET FSAMPLE

Ooo0o0oO0o0o00O0O0O000O0O00000000UUUu 20000 TDSIO_SET_FSAMPLE
O000300000000000000000CC00O0O0O000 (32bit)000O0Oooon

oogd
e IODOODO

Dooboobog (boobd
40kHz TDSIO_SAMPLING_40KHZ
100kHz TDSIO_SAMPLING_100KHZ
200kHz TDSIO_SAMPLING_200KHZ
500kHz TDSIO_SAMPLING_500KHZ
1MHz TDSIO_SAMPLING_1MHZ
2MHz TDSIO_SAMPLING_2MHZ
AMHz TDSIO_SAMPLING_4MHZ
SMHz TDSIO_SAMPLING_8MHZ
16MHz TDSIO _SAMPLING_16MHZ
32MHz TDSIO_SAMPLING_32MHZ

ooo)

/* IMHz O OQOQOQ0OQOQ =/

unsigned int fsample;

fsample = TDSIO_SAMPLING_1MHZ;

ioctl(fd, TDSIO_SET_FSAMPLE, &fsample);

6.3.12 000O0O0OO0ODOODOO — TDSIO_.GET_CHMODE

O0000O000O00bO0o0bO0oO0bO0 20000 TDSIO.GET_CHMODEO OO 3
O000000000000000000 (32bit)00000D00ODOO0OOOOCOOCOODOO
gbobogdggbed8bbugdoboboogoobobooooboboooobon

oo

unsigned int chmode;

11



ioctl(fd, TDSIO_GET_CHMODE, &chmode);
if (chmode == TDSIO_SAMPLING_4CH) {
/* 4CH x/

6.3.13 0DUO0OUOOODOO — TDSIO_GET _RESOLUTIONBIT

OO000oooobooooboob 20000 TDSIO_GET RESOLUTIONBIT OO
03000000000000000000CDO (32bit)0000000O0O0O0OOOOO
gboboboogobbes3dsugoobbobouoooobbboooobbboooobon

o)

unsigned int resolutionbit;

ioctl(fd, TDSIO_GET_RESOLUTIONBIT, &resolutionbit);
if (resolutionbit == TDSIO_SAMPLING_4BIT) {

/* 4Bit x/

6.3.14 000O0O0OO0OO0ODOO — TDSIO_GET_FILTER

Oo00ob0oboobobooooboboo20000 TDSIO_GET FILTEROUODO 3
O000000000000000000 (32bit)0000000DOOOOOOOOOOO
gobboboogdgugedioboooobbobbuooooobbboooooboobooodgd
goo

(ooo)

unsigned int filter;

ioctl(fd, TDSIO_GET_FILTER, &filter);

12



if (filter == TDSIO_SAMPLING_THRU) {

/* Thru */

6.3.15 ODUO00O0O0OODOOOOOO — TDSIO_.GET_FSAMPLE

OOooooooooobogoobooboooonbD 20000 TDSIO.GET_FSAMPLE
O00030000000000000000000 (32bit)D000C0CCOOOOOOOO
goboboboogogoboobbodeslliobbooooobobobbooooooboobo
gbooooooobood

o)

unsigned int fsample;

ioctl(fd, TDSIO_GET_FSAMPLE, &fsample);
if (fsample == TDSIO_SAMPLING_4MHZ) {

/*x 4MHz x*/

6.3.16 UU0OOO0OOO0O — TDSIO_.GET_STATUS

OO000b0ooboobobodobooboob 20000 TDSIO_GET_STATUSO OO
30000000000000000000 (32bit)D0000O0OO0OOO"

ooo)

unsigned int stat;

ioctl(fd, TDSIO_GET_STATUS, &stat);

1000000000000000000000000000000000000000

13



6.3.17 0D0O0OOOOOO — TDSIO_SAMPLING_START

O0O00o0bOoobobooboDbOo 20000 TDSIO_SAMPLING_START O OO
goo

ooo)

ioctl(fd, TDSIO_SAMPLING_START);

6.3.18 0UU00OO0OOOO — TDSIO_.SAMPLING_STOP

OO00000Db0O000D0O00ob0O 20000 TDSIO_SAMPLING.STOPOODOO
00000000 PCOOD0OO0O0OOOOOOopen()00000OO0O0O0O00OO0OOOOO
gbooboboodgooboooobbooogn

oo

ioctl(fd, TDSIO_SAMPLING_STOP);

6.3.19 DCUOOUODOOOO — TDSIO_SET_DCOFFSET

OO0 DCOO0ODOO0ODO0O0DO0OO00 20000 TDSIO_SET DCOFFSETOOO
3000000000000000000 (struct tdsio) 0000000000 ODCOO
000 (ICH)OO0O0O0O0000000OOstruct tdsioO0O 00 keyD 0002CHOO OO
gbobobood1lobbodo

ooo)

struct tdsio tdsio;
tdsio.key = 0; /* DCoffset 1 */

tdsio.value = 0x10;

ioctl(fd, TDSIO_SET_DCOFFSET, &tdsio);

14



6.3.20 DCUOOUODOODOO — TDSIO_GET_DCOFFSET

OO0O0DbCOOoobobobooonoooboOo 20000 TDSIO.GET_DCOFFSET
O000300000000000000000000 (struct tdsio) 0000000 O00O0OO
DCOOOOO (1ICH)ODDOODDODDOOOOOOOstruct tdsio0 00O keyD 00 O2CHO
ggboobuoggobi1obooon

oo

struct tdsio tdsio;

tdsio.key = 0; /* DCoffset 1 */

ioctl(fd, TDSIO_GET_DCOFFSET, &tdsio);

tdsio.key = 1; /* DCoffset 2 */

ioctl(fd, TDSIO_GET_DCOFFSET, &tdsio);

6.3.21 0O0O0OODO FIFOOOODO — TDSIO_BUFFER_RESET

OO0O00000OFIFODODOOOO0O0OO0OO00 20000 TDSIO_BUFFER RESET OO
gooo

oo

ioctl(fd, TDSIO_BUFFER_RESET);

6.3.22 1PPSOUOD0OO0OO0OO — TDSIO_GET_1PPSINPUT

OooOooOoOo1ipPSOODODODODOODOODOOO 20000 TDSIO_GET_1PPSINPUT
gbooooog

aoo)

unsigned int pps;

15



ioctl(fd, TDSIO_GET_1PPSINPUT, &pps);
if (pps == 0) {
/* no 1PPS Input */

6.3.23 0DU0OUO0OODOODOODO — TDSIO_GET _REFINPUT

ooooooooooooOobOObOb0O0uoou 20000 TDSIO_GET_REFINPUT
ooooog

ooo)

unsigned int ref;

ioctl(fd, TDSIO_GET_REFINPUT, &ref);
if (ref == 0) {

/* no Ref Input */

6.3.24 5/10MHzO000000 — TDSIO_GET_10MHZINPUT

OO0000o0oboobobOobOosMHzD 1IOMHzOODOODODOOOAMMHzODOODO 100
IOMHzOOOD oOOOoOOOoDODO 20000 TDSIO.GET_ 10MHZINPUT O OO
goo

oo

unsigned int rhz;

ioctl(fd, TDSIO_GET_10MHZINPUT, &rhz);

if (rhz == 0) {

16



/* 10MHz */

6.3.25 AUX[OOOOO — TDSIO_SET_AUX

AUXOODOOOOOOO 20000 TDSIOSET AUXOOO 30000 AUXOO
000000000 (struct tdsauxio) 0000000000000 auxsized AUX OO
O0000D00000 auxfieldD AUXOOOOOODOOOauwxfieldODOOOOO0O0OOOOO
Ob2600000000

(Coo)

struct tdsauxio tdsauxio;

tdsauxio.auxsize = 10;
memcpy (tdsio.auxfield, "TEST AUX!", tdsauxio.auxsize);

ioctl(fd, TDSIO_SET_AUX, &tdsauxio);

6.3.26 AUXOUOOOO — TDSIO_.GET_AUX

AUXODOOOOOODOO0OO020000 TDSIO_GET_AUXOOO 30000 AUXOO
000000000 (struct tdsauxio) 00 0000000000000 0OOO auxsize O
AUXOUOODOODOODOOODD auxfield 0 AUXODOOOODOOOODO

(coa)
struct tdsauxio tdsauxio;

char buf [256];

ioctl(fd, TDSIO_GET_AUX, &tdsauxio);

memcpy (buf, tdsio.auxfield, tdsauxio.auxsize);

17



6.3.27 0O0O0O0OOOO — TDSIO_GET_ERROR

OOoOo0O0oOoOOoOOoOOoO0O0O0ObObObO0O00O0b00O0O0Ob 20000 TDSIO_GET_ERROR
000300000000000000000 (32bit)00000000O00O0OO
OO0 pCODO0O0OOODOODODOODOOG31OD0000OD0ODOODOODOODODLO
gbogbbodgbdbbooooboooboobobobogbobuoobboobboon
gbbobugdgbbbuoooobbooobobbbooobbbooobboboooobo
googboubbodbogobuoooobuoobbooboobobuooboooobogan
010000000000000000°

oo

int err;

ioctl(fd, TDSIO_GET_ERROR, &err);

6.3.28 00O0OUOODOO — TDSIO_REGIO_READ

OO0bo0boooooboobooooD 20000 TDSIO_REGIO_READUO OO 300
O0000000000000000 (struct tdsioregio) 00000000000 0O0OOO
O0000 addressD 0000000000000 valueOOOOO0OOO0OODOOOO

ooo)

struct tdsio_regio regio;

ioctl(fd, TDSIO_REGIO_READ, &regio);

printf ("address=0x7%02x, value=0x%02x\n", regio.address, regio.value);

5 vlbi-usb-linux/include/tdsio.h O O

18



U 1. 0d0oboo

gooo (0boboood

0 Dooooo(@Oo)

1 00000000000000000

2 00000000000000000000000000

3 00000000000000000000000000000000
00000000000

4 00000000000000000000000000000000
0000000000

5 00000000 (000/0000,/00000)0000000000
00000000000000000000000000000

6 00000 FIFOOO0O0O000O00O000

7 00 1PPSO0O0000O00O0OOOOO00

8 00 10MHz0000O0000000000

9 000000000000000000

10 IPPSO000000000000000001PPSO00000000O
0oooooo

11 D000 (00000000)0000000000000000000
00 (00000000)00000000000000

12 00000000 read)00000000000000 read()0000
0oooo

13 PCI0O0000000O0O000000000O0O0O000

14 DMAOOOOOOOOO0OO

15 00000000 1/0000000000000

16 DMAOOOOOOOOOOO

17 000000000000000000000000

18 0D000000000000000000000000

19 0D000000000000000000000000000000

20 00000000000000000000000000000000
ooooo

6.3.29 0DU00O0O0OODOODODO — TDSIO_GET_VERSION

OOooO0oOobooooobooooboobobD 20000 TDSIO_.GET_VERSION OO
O300booboobooboobobbobboboobooboobooboon
gbboooobbbooobboooobbbuooobbbuooobobboooobo
gbooboogooood
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TDS_VERSION_MAJOR() gbooobooobooboon
TDS_VERSION_MINOR() gbooobooobooboon
TDS_VERSION_REVISION() | 00000000000 0OOO

ooo)

uint32_t version;

ioctl(fd, TDSIO_GET_VERSION, &version);
printf ("version=%02d.%02d.%02d\n", TDS_VERSION_MAJOR(version),

TDS_VERSION_MINOR(version), TDS_VERSION_REVISION(version));

T Uooobgogd

000000000000 vlbi-usb-linux/example 00000 sample.c 000000
Oo0ogd

8 Uooon

gbbobogdobbboooobbbuoodobbboooobbobbbooobbb
gbooboooobbbooobboboooobobogb

8.1 UUOUOOOD

gboobooodoboboooobbboooboboboooobbon

e <sys/tdsio.h>0000000000
ogooooogd
#include <sys/tdsio.h>
gooooo

o libtdsU DO DO ODOO
gboobuobobo-kdsUogng
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Ooboobobobooboobooboooooobourpsobooooooooboboog
OOobD0oOoboOoboOooo 92 000bo0oooobD ThSOobooooobooooooo
gooodao

1. TdsOpen()

goooboogggoon
001 |char *(0O0O0) | 000000000 OONULLOOO

00000000007 /dev/tds0” O
000000

000 |tdsdev_t * ddddooouooooooooo
dddodoooododooooooo
O0oobONULLOOOoDoooooo
gddogodobooododooooao
gobbboogooboo

2. TdsClose()

000000000000
|00 1 [tdsdev_t * | 10 TdsOpen()J0D0O000000O0

000 |int [IEEEEEDEEE ] |

3. TdslInit()
00000000000000
|00 1 [tdsdev_t * | 10 TdsOpen() D0 D0D000000O0

OO0 | int gbbogobboodbuooobbond
goobooon

4. TdsClrBuffer()
0000000 FIFOOOO00000
|00 1 |tdsdev_t * [ 10 TdsOpen() 000000000000

OO0 | int gbboogobbboodbuoogbobodnd
gbobboogn

5. TdsSynclpps()
00 1PPSO00O0O0O00OOOO
| 001 [tdsdev_t * | 10 TdsOpen() D0 D0O0000O00O0

OO0 | int gboboobobbooboboboboobd
gooboboogon
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6. TdsSyncTime()
gbobboggdobooodgdn

| 001 [tdsdev_t * | 10 TdsOpen() D0 D0O0000O00O0

OO0 | int gbbogobboodbuooobbond
gobobooon

7. TdsSetTime()
goooboodoobogdg

OO0 1 | tdsdev_t * 10 TdsOpen() OO OOOO0DOOOOO

002 |tdstimet * | 0000000000000 0O00OO00O0OO0
OO0ONULLODOODOOOOSOOODo
ggboobuoogooo

OO0 | int gbobogogobuoobbboobob
ggboboboood

tds_time t OO0 DO O0O0OOOOOO

struct tds_time {
int sec;
int sec_carry;
int day;
int day_carry;

+;

typedef struct tds_time tds_time_t;

sec oo:00:00000D0ODOOOO

secccarry | U0 DOO0O0O0OO0OO0O0OO0OO0OO0O1I000O0O0O0DO0O0
gboogbboobbobboobobobbobobo
goooo

day 1010000040000

daycarry |dayQ OO QOUOoooooooog1googoog
gbodobboobbobbobbooobbobbo
gooodag

8. TdsGetTime()
goooooooooobobbboooooo
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00 1 | tdsdev_t * 10 TdsOpen() DO ODODODOOOOOOO

002 |tdstimet * | 0000000000000 O0OODOO
g

OO0 | int gbobooobobobonoooood
gogoooboogd

tdstimet 00 O00O0O0O0OOOO7T0OOO0O

9. TdsSetYear()

gboboboodgobbodggdn

00 1 | tdsdev_t * 10 TdsOpen() DO OODOODODOODO
ERN

002 |unsigned int * | 00000000000 OCO0OOOO
googo

OO0 | int gboogboobobobooboboonbo
gbooobooboo

10. TdsGetYear()

Joooogdooooggooobodgggn

00 1 | tdsdev_t * 10 TdsOpen() DO DO OODOOOOO
EEN

00 2 |unsignedint * | 0000000000000 0OOOO
gooo

OO0 | int gooooobobobobobgboo
goboboogodn

11. TdsSetSampling()®
gdooooooogooog

00 1 | tdsdev_t * 10 TdsOpen() DO OOOOOOOOO

002 |tdssamp t * | 0000000000000 0OOOO0OO
gobbooooon

OO0 | int gboogooobbobobbuodboob
gobbooogn

tdssamp t OO0 OO 0000000

struct tds_samp {

int freq;

6927000000000000
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int unit; /*x ’k’ or M’ %/
int width;
int channel;

+;

typedef struct tds_samp tds_samp_t;

frequnit | 0 O O O O O O 0O0O0O0O0ODOODOTZ OOO
OO0 | freq | unit

40kHz |40 |k’
100kHz | 100 | 'k’
200kHz | 200 | 'k’
500kHz | 500 | 'k’
IMHz |1 "M’
2MHz |2 M’
AMHz | 4 M
8MHz |8 M
16MHz | 16 | "M’
width g oodogobbooooogogoabnb

0000 | width
1 1
2 2
4 4
8 3

channel |0 O O 0O 0O 0O OOOOOOOODOOODO
OO0OO0 | channel

1 1
4 4

12. TdsGetSampling()”
000000000000 00000000010

00 1 | tdsdev_t * 10 TdsOpen() DO OOOOOOOOO

002 |tdssamp t * | 0000000000000 0OOOO0OO
goboboogon

OO0 | int gboogooobbobobbuodboon
gobbooogn

tdssamp t OO0 OO0 OOO??20000

"927000000000000
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13. TdsSetSampling2()

gooboogdoooodn

001 |tdsdev_t * | 10 TdsOpen() U OO OOOOOOOODO

002 |int * gboboboboobooboboban
gboobooboobo

00 3 |int * gouobgobobooboobobooobob
goboboboooon

004 | int * gougbgbouoboooboboobob
gobooogd

005 | int * gouobgobuobobooboboobob
gobobooogn

OO0 | int gboogbogobbobbbodboob
gobobooodn

14. TdsGetSampling2()

goboogdooboggdooboogon

001 |tdsdev_t * | 10 TdsOpen() OO ODOOOOOOODO

002 |int * gbobobobooobobobobon
gbobobooogboo

00 3 |int * gooobobooboboboooobon
gobobooogn

00 4 |int * gooobobooboboboooobon
goboobog

005 |int * gougbgboooboboobooooon
gobboogn

OO0 | int gboogoogbboobbbuodbooon
gbobobooodgn

15. TdsSetDcoffset()

OoOoooobCcOOobOoOobooOoobooOoon
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00 1 | tdsdev_t * 10 TdsOpen() DO OO OODODODODOOO

00 2 | int * bDCOOOOOoOooooboboOooDboo
gboboboooobobobobod
oo

00 3 |unsigned int * | DCOODODO0O0OOOOOOOOOODODO
goboboodan

OO0 | int gbogooobbobobbodgboon
gobbooodgn

16. TdsGetDcoffset()

O00000DCOODO0ObOO000Ooogogn

00 1 | tdsdev_t * 10 TdsOpen() DO OO OODODODODOOO

00 2 | int * ooobo pcobobobooooooooon
gboboboooobobobobon
ERN

00 3 |unsigned int * | DCOODOOOOOOOOOOOOOODOO
gobobog

OO0 | int gbogoogobbobobbodgboon
gobbobodoogn

17. TdsStatus()

goooogdooobogggooooogooood

o1

tdsdev_t *

10 TdsOpen() 0000000000
0o

oo 2

unsigned int *

gddddooooooooooooo
dddooooooooooooo
dddgooddodoooooooao
goooodg

goo

int

gboodgboboboboboobobodobo
gobooboogdn

18. TdsStart()
googoooooooon
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| 001 [tdsdev_t * | 10 TdsOpen() D0 D0O00000000

0ogd

int g
ERN

gbogobobobobooboond
oboooog

19. TdsStop()

gooooodooood

(001 |tdsdev_t * [ 10 TdsOpen() 000000000000

goo

int od
0o

gobouoobbodgbbuagonn
oboobog

20. TdsGetData()

0000000000000 4000)00O0oooooo

OO0 1 | tdsdev_t * 10 TdsOpen() DO DODOOOOOOO
gd

002 |unsigned int * | 0000000000 ODOOOOO
goodd

OO0 | int gogboboooouoboobooboodo
guooooobobn

21. TdsRead()
00000oooooooooooognn

o1

tdsdev_t *

10 TdsOpen() DO O OODOODODODO
HRN

oo 2

int *

ggdddddoooooooooao
gogoguoouoobooboababn
gogooouougbobobdobdab
gobobooggooboood

0o 3

unsigned char *

00000000000 (Dooo)o
gbobooboooobood

goo

int

goodoboobbobboobognboo
gbobobooooon

22. TdsSetAux()

OOO00000DOo00DoOOooO0oO0o AUXOoOoDoooooo
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001 [tdsdevt * | 10 TdsOpen() DODOOODOODOOO
g

00 2 | int * 0000 AUXODODOODDODODODOOO
gobobooogbbobuoooobo
00 3 | char * D000 AUXOOOODODoOoOOooobo
O@O0O0)000oooooooo
HEN

OO0 | int gboogbobbobboobodbo
gobooboboooggn

23. TdsSetAuxFile()
O00000000000000 AUXODODOODOOoDoooooooooooad

D00 AUXOOOOO0O00OO0000
001 |tdsdev_t * |10 TdsOpen() DO O OOOODOODO

ERN

00 2 | char * O00D0 AUXODOOODOOoOOoOoo
gobobobobobbooboooooogo
0000 (0000O)obooooooo
gobooo

OO0 | int gboogbobbobboobodgbo
gobobobooogn

24. TdsGetAux()

O0000000000ogooogoo AUXoooooooono
001 |tdsdevt * | 10 TdsOpen() DO O OOOOOOO

HEN
002 |int * O00000AUXDODODDODODODOOO
gobobooogbobuoooobo
00 3 | char * O0OooobDAUXOODoooooo
0(@O000)00000oooooo
g

OO0 | int gooobooboboboboboobo
goboboboooogn

25. TdsGetAuxFile()
O0000000000000 AUXODODOooooooo
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o1

tdsdev_t *

10 TdsOpen() 0000000000
0o

oo 2

char *

0000 AUXODOOOoooooooo
godddodooooooooooo
0(@0000)00000oooooo
HEN

goo

int

gooooobobobobobgoobo
goboobooooogn

26. TdsError()

goobooggobood

001 |tdsdev_t * | 10 TdsOpen() U O OO OOODOOOOO
00 2 | int * gbouogbogoboobbobboobgad
goobooon
00 3 | char * gbogobuogbobooobooboo
gobobooogn
OO0 | int gboboogobbbooobuoogbbogd
goboboogon

27. TdsGetVersion()

gbobooodobobbogggbbboodgobobod

001 |tdsdev_t * | 10 TdsOpen() DO OO DOOOOOOOO

00 2 | int * gooboobobbobobobobobog
gbobobooooboo

00 3 |int * gboogobuogbobooobogboo
gobbobooodgoboo

OO0 | int gbbogobbboodbuooobbogd
gobboogn

gboodbuodgbbobuooguobobubuogbooboobboobboooab

gbobobooooobbboooobboboooon

TDS_VERSION_MAJOR()

gogbbobouogoobobodad

TDS_VERSION_MINOR()

gogbobobogoobobogad

TDS_VERSION_REVISION()

gboobogobooboobo
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000000000000 vlbi-usb-linux/example 000 OO libecalle 000000
goo
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